TEST PAPER C

1. Find the coordinates of A, B and C when the equation of the curve is v = Slog (2x + 2) and the equation of
the Line is y = 10,
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2. Stationary values of the function 2% + mx oceur when x = 42, Find the value of m. Hence state fix)
and f(=1).

3. {2z} Find the coordinates of the centre and the length of the radius of the circle with equation
.x?+1.:-1—2.1r--153.'r']=ﬂ.

(b) *State the equation of the circle afier reflection in the y-axis.

4.  The vertices of a riangle are A(-1, 3), B(2, 1} and C(5, 4).
Find the equation of the altitude BO).

5.  The graph of f(x) is shown.
Makz a rough sketch of ().

6. (@) Giventhat (x + 1) is a factor of f(x) = 27 + 322 = 13c - 15, fully factorise f(x).

(k) Siate the coordinates of the points whene fi{x) meets the axes.
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10.

11.
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{a) Adisthe point(2,-1, 3), B is the point (1. 6. —4). P divides AB in the ratio 2 : =3. Find ﬂ_ﬁmd'“‘“’"
of P.

(b} Stale the ratins AB : PE and AB : BP

fa} Using the method of completing the square, find the minimuem value of y=x2 + dx + 11,
f&) Make a rough sketch of the curve showing the turning point end any axis intercepts.

ic) From your skeich, state the nature of the roots of the equation. giving an explanation.

A cenain sequence of oumbers is defined by the recurrence ralation Ly, 4y =04, + 12,
Explain why this sequence has a limit and find the limit of the sequence.

If the points (1, 2), (a, 4) and (b, 1) are collinear, show thata + 26 = 3.
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tf [ Sex? - 23de =3, find b,



